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Directions Q.1-4- Choose the cotrect antonym, out of the four given choices, of the given word:-

1.

Canny :-
A) foolish B) permanent - C)legal D) rude .
Execrable - .. | [
A) weak B) admirable - C)adamant . D)cruel -
Greenhorn :- _ o o .' o o A o
- A)flatterer - B)stainless . - C)veteran .. - D) undue
‘Narcissism:- - - IR | S P
~A)cleverness . - " B) auogance' i C) cunnmg D modesty

Directions Q.No. 5-7 :- Mark, out of the four cholces the correct meanmg of the ltahclzed

C 1d10ms/ph1ases used in the following sentences -
- Sumedha appears to be in a brown study. A =
L A)m areverie - B) qu1te pessumstlo ) fond of 1ead1ng D) fond of Ieadmg phllosoplly

: _ _' You should not bow down in a hou.se of Rmm.'on e - : :
JoooA)hutothers oo B B) sacnﬁce }’OUI pmnctples for the sake of confomnty
0 criticize others D) be mdlffezent to othels ' :

. -'_.'Ramesh advmed us to gOfm lhe]uguia; IR B R
_ A) be calm .. + B) besmart O be agglesswe D) be active

- Dir ectlons Q No, 8 10 - Choose the correct pprOSltlon out of the fom glven choxces to be S

filled in the gaps of the following sentences =

8

o,
L
o

13.

- The novelist has alluded A the Fust Wo1ld ‘War . in thlS novel e
: A) ﬁom B) of C) w1th S D)to '
o _._Hany abstamed - non-vegetananfood i L
There seems $ 1o be no 1esp1te the soaung mﬂatlon i | R
'.-'_A) out RO B) from . C) fon o Dyabout i

_'_Themeta! used insto:agebatteuesm i L e
A)1ron Eae T B)coppe1 R C)lead .o Dytin oo

.'.-I:Whleh of the foilowmg is cssentlal fo; blood clottlng‘? i S
S A) RBC o B) WBC _ C) Blood platelets D) Lymph . -

o Thermos ﬂask keeps a liquid hot because .
A} It has double walls. - S
~.B) It has silver coated walls :
C) Air between the double walis is 1emoved
~ . D) Heat loses by conduction and Iadlataon ale latgeiy pnevented
ool Ayradars oo B) Science oftlssues :
R C) study of laser beams : D) gynaeeologlcal opetatlon S

Laparoscopy is connected with

' ]_)_nl'an/I.’.ageE}_ofI'_t} EEES



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

15.
lo.
17,

18._
| _.1_9.
»
22,'

C2s.

Which of the following vitamins is considered to be a hormone?
A)A B) B C)C D)D

Sikh Guru Arjun Dev was killed during the reign of
A) Humayun .B) Akbar C) Jahangir _ D) Shah Jahan

The first Europeans to come to India were T N
A)British - = B) Dutch S C) French : '_D) Ponuguese_

The last Governor General of India was : '
A) Lord Dalhoume B) Lord Mountbatten C) C. Rajagopalachau D) Loxd Canmng

‘Who among the followmg was called as ‘Fathe; of Ind1an Rena;ssance ‘? | o

©A)B.G.Tilak "~ B)Gopal Krishna Gokhale
0] Lala La_lpat Rai o0 D) Raja Ram Mohan Roy _
| ) The des1gn of the Natlonal Flag was adopted by the Constt‘ruent Assembly of lndla in
A July, 1948 B B) July, 1950 : _' C) July 1947 D) August 1950
..'-'_The Peuod of Twelveth Flve Yea: Plan is : Lo _ :' ~ S
'A) 2007- 2012 B) 2012—2017 o )2009 2014 D) 2010 2015
n lndla The Black Revolution 1s assoclated w1th self dependence in the p10duct1on of
- A)mustard seeds . B) crude petroleum : R T PR
. C) blackbox e D) coffee e
: Capltal gams tax i isa palt of it \ 4
. A)Wealth Tax e B)GlﬂTax R IO
O)BstateTax =~ - D) IncomeTa\i T

Specnal Dlawmg Rtghts (SDRs)lelate to R R e
- A)the WorldBank - ool B) the Resewe Bank oflndxa SRR S
U C) the W(nld Tlade Or, gamzatmn D) the lnternatlonal Moneta1y Fund

“In wlneh of the followlng o1ty Indla s first all-women bank Bharatlya Malnla Bank was _
- inaugurated by the Prime Minister, Dr. Manmohan Smgh and MIS Soma Gandlu on
- November 19,2013? . : DR

o '-A) Dol i B) Gu1gaon '. o o) Bangalore D) Mumbal . i

: South Afuca s fnst black Picmdent and anti- apartheld icon Nelson Mandela d:ed at the RARTE
- ‘ageof 95 on December 5 2013 Whlch of the fol!owmg dates has been ﬁxed as Mandela i
‘Day? .-

CA) huly 17 B) July 16 _:' ' C) Ju _' - D) Ju[y 18 A

. Which of the followmg is the theme of Intematlonal Day for Pleselvataon of the Ozone o
~- o Layer 20137 o ERR o
-~ A) Save Earth e PP B) Ozone Lets Save It E

.- and Peace’ by Umted Natlons in August 2013'7 G
- A July 12 Lo 'B) Feb1ua1y6 C) Apnl6 D) ]une 23 S

o

'C) A Healthy AtmOSphere, The Futute We Want D) Ozone Safety Future Safety
. ‘Which of the following days is declared as ‘lnternatlonal Day of Sports for Development

i lOlthlndlanSc1enceCong1esswasheldat S RS
-"A) Bangalore B)NewDelhl '_'-C)Hy_der_abad_ o .:.D_).Iar:nmu et

i I)._nnanl’l_.’a.gc{l__of_l_ﬂ. )
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30.

3L :
"'_A) Petrochemlcals -B) Industnes C) lnﬂammatlon : D) Insulatlon

32.

Which of the following Movies was g1ven the 2014 Oscar Academy Awald in the Best

Picture Category:
A)12 Years a Slave B) Dallas Buyers Club = Q) Blue Jasmine D) Grav1ty

‘Metal’ is related to ‘Conductton in the same way as ‘Plastic’ is related to

. Select the missing (?) w01d fiorn given altematlves on the basis of the telattonshlp
“between the words given on the leﬁ/ught hand 51de of the 31gn : :
- Hill ; Mountain :: 7 : : Pain .- L R
A Dtstress o 3 . B) Dtscomfort o C) Headache BT 'D) Fear

Ny -Dlrecttons Q No.33 & 34 Thlee of the followmg pans a1e al1ke ina certam way and hence
~form a group. Whlch one does not belong to the gzoup‘? ' o : o

© 33
34,

- 35,

36

" _'_37._ :
38
39,

oap,

~ A)DONE: NOED  B) WANT :NATW O) WITH TEHW D) HAVE AVEH |
--A)59 B)7il | C)13t7 D)293l o

Biy TEMPLE is coded as VHQURL how would you code CHURCH‘P . o
i '_A) EKYWIO : B) EKUWIO e C) EKYWEN N D) EKYWJO

'-:: "baw haw daw kaw means ‘Poachers killed some tigels vaw gaw jaw haw means
i ‘Tlgers are brave creatutes ', ‘kaw taw maw vaw’ means some watchman were, brave’
~and ‘maw jaw naw baw’ means watchman are seatehlng poachels Then what does__-_" PR,
'_‘kawbaw means? - gt e N AR R L

L A) some watchman B) btave tigels C) some poachets D) kllled tlgets

j:_Dnecttons QNo 37 to 39 Read the pattern of wotds/numbers and fmd the nnssmg tetm from
" the given alternatives: - G : O Bl B S
-QAM, SEO, ‘? WOS YUV R S L i
AUN B)UIP 8 ch o DuM.
w4, 615, 406, 7 G
= _:_3 A) 756 ':'_: i B) 732 o C) 7_34_: D) 736 o i
2,23, 6 5, 1_2 7, 20, £ S

A schooi bus goes 3 km nmth ﬁom the school and turns leﬁ It goes 5 km fuithet takes a s '
o leﬁ tum and travels 8 krn It takes a left tum from thete and goes . 5 km furthe1 Fmally, it =
B takes a leﬂ turn and goes 2 km. How mueh should the school bus t;avel and in whleh -

: d}rectlon in ordel to reach the school‘? o : &
"A) 3 km South B 3 kmNorth : C) 5 km West : D) 5 km Nmth

AL

A X B’ means that A is the 51ste1 of B ‘A B’ means that Ais the daughter of B R
oA - B’ means that A is the son of B. On the basns of thls mfo;matton how is, P related to

Sy Si in the relat1onsh1p P Q xR+ - 87 .

 Dman/PageSof10
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42.

43,

it.

Pointing to a lady in the photograph, “Seema said, “her son’s father is the son-in-law of
my mother”. How is Seema related to that lady? I :

"A) S1stex R B) Mothei el C) Cousin = - D) Aunt

In the following serres, some letters are mrssmg Whlch are glven 1n that 01de1 as one of .

N -the altematrves below it. Choose the correct aitematlve
n—qn-— nqt tqqtn—n—tqt . S SR - L
: -_A) mqtq - B) qtnqt R i C) ttnqn _ D) qqtnt

! Dir eetlons for Q No 44 to 46 Read the followmg Informatton to answer the questrons based on

e Seven letters are arranged ina lme as follows

L :A)D i B)A i C)E D)None ofthese '

o

E '.:'followmg ways

- (1) E and F have one lette1 between them = (n) Gis to the ught of A _
Lo (i) B is to the mtmedrate leﬁ of F. .~ o {(iv) There is one lette1 between D and A
W) D is not G’s nerghbour ﬁ__ e ;' (Vl) G and F have two lettets between them

W}neh letter is second to the !eﬂ of letter A‘? : i

Whteh letter wﬂl be exaetly in the mlddle of the lettet seues S0 obtalned'? S

46 Whrchpan of_the Iettels is adjacent to the letter B‘7 | A
| _'A)Aandc PRE B)GandE C)EandF e D)Cand A

'How many tnangles a1e there in the gwen ﬁglue‘? SR

_.A) 28 s B) 24 C)25 L D) 26 i
_'A person was asked to state h1s age in years His reply was, ‘Take my age three yeals_ SR
-~ hence multiply it by 3 and then subtraet three times my age three years ago and you wrll i
"know how old I am, * What was the age ofthe person‘7 B TN RN AR
A 18 year B)ZO}’eat : C)24 yeaa _Z;"' -'-D)32year S

The six faces of a cube ale colomed blaek brown green, zed whlte and blue in the

s L () Red is opposrte Ito blaek (11) BIOWII is adjaeent to blue (m) Biue is adjacent to whrte
fi (iv) ] Red is at the bottom surface V) Green is between 1ed and black

" Which colour is opposne to the Blown eolour‘? :

o A) Whlte S B) Red e C) Green _-D) Blue':..':_.

. DmawPage6ofto
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50.

51
s
_53'.'
L A) black - B) biue e C) vermllhon D) whlte

o iss
EEREA .-A)true B B)false _3 '

- 56.

60,

C6l,

A result of a survey of 1000 persons with respect to their knowledge of Hindi (H),
English (E) and Sanskrit (S) is given below:

Find the number of persons who know at most two languages Y

: 'A)410 | B)310 090 . Dynoncofabove.
:Lettcnng should be done only ST L
A) horlzontaliy L B) ve1t1cally 0 _di_agonall_y D) any_dire_ct_ion

- Facing part of the ob_]ect is shown by BRI IR R R ) Rt L
o A) Dotted hnes . B) ruicd lmes C) thzek even l:nes D) none of the '1bove .

By which COlOUl is the ex:stlng WOlk shown in the blue punt of the site pian S

A whlte o B) black _ C) blue T D) none of the above o

As per BIS, whlch coloun zepresents mctai sectlons e

The axis lme of a r1ght frustum of cone is not perpcndncu]at to 1ts basc ThlS statement is

In case of thm sectlons of ob;ects, the sectlons are shown by hatched hnes only ThlS S
- statement is - % T i i BN
LA true B) false

UMY 'A) 1400-1500 kg/m B) 1500 1700 kg/m C) 1700 1900 kg/m D) 1900-2100 kg/m
s e

The density of bricks should be

Hoiiow bncks are | used f(n COﬂStlUCthI‘l of FERRE ' e
Aysolidwalls ~© 00 e B) llght welght pattltlon walls

S _C) foundauons ' S '_ D) should not be used atall -
_ " Numbe1 of by bucks requued f01 one cum brlckwmk shall bc app10x1mately S
_A) 450 B) 500 C) 550 FaB D) 600 St
- Fust class bllck When 1mmelsed in wate1 f01 24 houls should not absmb wate1 by welght e i
. ~more than . SRR - B G
L 'A) 10% B) 15% i C)20% D)25% v
| Total ﬂoor area fm computlng F A. R ina muin sto;eyed bmldmg o o _
S A) Includes ﬂom area of basement B B) Inctudes floor area of basement and 1oof NEERE A
o C) Includes open arca foz palkmg ; D) Does not mciude ﬂoor area of basement i

)

6

) -Hunndnylsmeasured by S R e
o -A) hydrometm ; B) hyglometel 7 C) anemometer .- D) none of the above .

Ramfalllsmeasuredby T s e
- A) watermeter - B) cunentmetex C)1a1ngauge N D) screwgauge . " L

Dmanﬂ'age 7 of 10
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64.
65.
66.
67.
68.
69
'_ -io. .

N

o
T
76.
oo A) Prevents dampness in wa]ls B) Provrdes stab1hty to the bulldmg
e -_.':C) Reduces the dead Ioad of the struotu;e “-D) none of the above S
)

: -_'.'_'A) Four Lo B)Five C)Three SR D) _Six___E S

From septic tank the effluents are discharged into
A} drainage B) soakpit C) sewer D) oxidation pond

Cohesioniess soil is e
A)sand Bysilt o . Celay D) clay and silt

Final setting time of cement as per BIS i is
A) 5 hrs R B) 8 hys. : '_ :- C) 10 hrs. -~ D} 12 hs,

Whlch matenal is used for wh:tewashmg‘? g S
A)lime - -~ B)cement .- C)paint - - D) none of the above

Chemical formula of limestone is

A)CaCO;  B) CalOH), o '-_C) Ca_o_'_'_ﬁ' " Dynone of the above

The most valuable trmber is

Asal - B)Teak o C) Chn f.__'_.;:'-’_”D)Neem il

'_'We}l seasoned tlmber contalns morsture between - TR 3 _
--A)4 7% R B)7 10% S C) 10 12% SR :D)12 15% S S

The tempoxary ngrd structure havmg platfoxms at dlfferent ievels to enable masons to o

-~ work is known as .'

S -_A) scaﬂ'oldmg i B) dead shores . C) Rakmg shores D) Unde1 pmnmg
' The vertical srdes of a door and wmdow openzngs provrded in the waIl are known as oo
JA) Reveals o B) Jambs : ; C) SIHS o D) Cormce S
'When the buc_k is laid w;th 1ts breadth palallel to the face of the wali rt is known as
' A) Stretchel B) Headez R O)) CIoser _' D) none of the above -
: “As the ground water Ieve] uses the beaung capacrty of the sorl _. _' : b S
A Increases B) Decreases C)nemams same D) can’t say .
: Excavated sorl of foundatron trenches are kept about Sy away ﬁom the trenohes |
- A)30-50ems - 3 B) 55-75 ems C) 20-30cms -~ Dy>1m
::_ Usually mthe burldmg the damp ptoof course is provrded at o
~A)Plinth level - '_ . B) Ground level - SR SRR
-C) Wmdow sxll level '_ D) Mrdway between water table level and ground level

Cavrty walls in the burldmg

| The plocess of glvmg desrred shape to the ttmber prece 1s known as o
- A) Mouldmg B Chlsellmg SRS Sawmg ; D) Markmg

; The honzontal member drvrdm_g the wmdow frame Vertreally is known as
A) battens PN B) style C) braces 'j [ D) transom

The seties of steps w1thout break of landmg or pIatform is known as b e :
: A) Gomg o~ B) Wmder v '_if C) thht D) Tlead SR

Mxmmum numbez of steps ina ﬂlght of stan shouId be
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82.

83.

84.

85.

86.
87,

88

9.

1.

_ BEICIEAS A)242ll ames o B)24511 acres '_ C)24711 aones ~D)2.4811 acres -
LA '_fA)sq m _': 3 B)sq mm C) 5q. cm '. . D)none of the above - = .o

s,

100.
. bridge is known as _;

In case of dog- legged stair the stair turnat at landing
A)90° B) 2700 | 0O 135‘J D) 180°

Flat roof constmcted with bracks steel and cement mortar is known as
A) Brick ﬂat roof B)R.C.Croof - C) R.B mof D) Brick tiIe toof

“The top most apex l1ne of the s]opmg roof is known as

A)Valley — B)Hip . C)Faves :_D)Ridge'_ |

Minimum height of living rooms'is kept as - i

A29m  B3m  O32m  Diim '-
.-_Mnnmum depth of buxldmg foundatlon should be S e S L
_'A)S()cm . B)’/‘Ocm C) 750m _ _"D)80cm S
- The pnnc:ple ofcham surveymg is from SR R ST L
. A) Part to whole : B) whole to part C) Both ‘a’ and ‘b’ D) none of the above S

- “The. reciuced beaung ofa llne is S 55 E. Its whole cncle beaung is o 8
o aee s gt D)2350
St __.3:'89_ - _

_ The sum of all the mtenol angles ofa legulal hexagon is
: 'A)360 : B)540 -

on .-”'_'_D) '900"__.

The ]ength of an engmeels chaln should be

COMI00R o B)6OR ~O%m D)20m
_ S Culvert 1sasmall brldge whose max1rnum span is _ AT
"-'_-"_A)'?Om B)SSm C)60m - D)100m

_ ‘Bnd portlon of budge supporting the top deck is known as RS
; 'A) P1e1 . B) Abutment - _C) ngwall__ D) Bearings .

Convert one heetale in acies

Cement conctete _}a1l (thlckness specn‘led) are measmed in

“The useful part of hveable alea of a bulldmg is also known as . L

cA) Carpetarea S “B) Circulation aiea RTINS

: 0 Honzontal cnculatlon area oS D) leth area BT

B 96 . .Pipes for water supply aletested f01 T G . R e
‘A) Pressme B) Leakage By C) Dxmensnons D) All ofthe:a_b_ove

A good bu11d1ng stone should be : T N e R e
. A)strong SRR B) good in appealance &eolom BT

- C) hard & tough o B S U Dyall of the above ;

~The road connectmg capltals of states is known as oo : - : R
o '-.'_'-A) Nat1ona1 hlghway B) Provmc1ai hlghway C) State h1ghway D) Express highway ORI

Ina detalled estnnate the p10v1s10n for contmgenmes is, usually . :
A)I% R B)3t05%_-_- C)I{}%_:-_ i D)12t050%-

The vemcal dlﬁerence between the lughest ﬂood level and the top of load crown at the _' e B

CoA) Afflux B) Clearance o C) Flee-Boald o _D_) Wate_r:way_'-_- B

Dman/Page 9 of 10
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KEY

Post: Head Draftsman/Draftsman (29.03.2014, Morning Session)

Ans.

76

77
78

79
80

81

82
83

84

87
| 88 .

89

":._.91_'_:

92

S 93

| 94 '

95

96
Sy

99
100 -

Ans.

251

52

53
.54

35
56

58

59
60
6l

64 |
65

66

69

B

T

Ans.

26

27 .

28

29
30

31

32
33
34

35

36
37
38

39

40
4]

42

43
44

46

50 E :

Ans.

10

11 -

12

4

15
16

17 -
18

19

|21

22

25 0

120
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